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FRI0E 9 BBREFEH
9A% (E) NEERE (B)
And | Rep | RRENEE | #ts NP Er RAENEE | @i
CNGV - CHGVH - CHGTHZS 28 FA LUS} DBt IR 5

500L 3k
LPG 559, 302 2,349 0 3,456, 313 9,217 0
PG 62, 725 21 0 387,139 100 0
LG 32,619 0 0 252,174 254 0
AG 2,950 0 0 23, 296 3,000 0
LT 2, 809 1,367 0 18, 205 1,728 0
LNGV 0 0 0 0 0 0
L 0 0 0 0
(LDH 0 0 0 0
CHGGV 2 200 0 326 1, 800 0
it 184 0 0 689 0 0
fEnEgest [ 660,591f 3943 Lo of____ 4,138,142} - 22,099 . 0
XEEFEALE (h) 92.7 93.9 0.0
smgart [ 664534 | 460241
xETERA L (%) 92.7

500L L1 L 1000L 5 78
LPG 0 0 0 0
PG 150 0 3,321 0
LG 325 483 3,335 2, 689
LT 0 0 0 0
nL 0 0
(LDH 0 0
CHGGY 0 0 0 0
Z D 0 0 37 0
LTy S I sl ) | seew[ _____zeso[ ________[
HNEERAE %) 112.1 97.5
}Mﬁ &t e.8_ 8382 ]
xEiERAE (%) 0.2

1000L L1 E
LPG 1,167 512 14 6,210 2, 869 373
PG 0 0 0 57 0 0
LG 255 28 3 1,316 988 18
LT 113 23 17 418 83 82
tnL 0 0
(LDH 2 2
CHGGV 0 0 0 0 0 0
ZDfth 0 2 4 31 17 4
fEpEsAR | 153 ser[ e | 8oz 3,950l 7]
AETERA L %) 101.9 102.2 93.9
egeR | 20 _________________| 12468 ]
AEERAK %) 0.3
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CNGVE 22 R DR &
EhEyst .} 8] o of . _________ of L) | R |1 E of . 0
HEERAE ) 4.5 0.4 0.0 0.0
oNevEgast [ & [ 6
*ETER A (%) 0.0

CHGVHZ 3= F DB R &
REREgst | 4 of . ofp _________ of ______2224 of _________ of _________ 0
HETERA L (%) 28. 6 0.0 0.0 0.0
CHGVH@E®%&st (. ®4 . 22% ]
HETERAE (%) 0.0

CHGTHE 3= F DR &
Emssst o o o of - _______ of . __ o of _________ of . ____ 0
HEEERALE (%) 0.0 0.0 0.0 0.0
CHGTH@E®M&St L o __ ]
HEERAE (h) 0.0




